



Name: _____

Date: _____ Score: _____

$6^{(-1)} + 5 =$

$6^2 + (-7) =$

$(-7)^{(-1)} - (-5) =$

$4^{(-1)} + 2 =$

$9^2 + (-6) =$

$5^{(-1)} + 10 =$

$(-3)^2 + 3 =$

$(-2)^{(-2)} + (-5) =$

$9^2 + (-4) =$

$2 - 5 =$

$10^2 + (-3) =$

$4^{(-2)} - (-1) =$

$(-1)^{(-2)} + 3 =$

$(-2)^{(-2)} + (-8) =$

$(-8) + 2 =$

$1^2 + (-6) =$

$8 - 1 =$

$(-1) - (-6) =$

$4^{(-2)} - 2 =$

$(-2)^{(-1)} + (-8) =$



Name: _____

Date: _____ Score: _____

$$6^{(-1)} + 5 = \frac{31}{6} = 5\frac{1}{6}$$

$$6^2 + (-7) = 29$$

$$(-7)^{(-1)} - (-5) = \frac{34}{7} = 4\frac{6}{7}$$

$$4^{(-1)} + 2 = \frac{9}{4} = 2\frac{1}{4}$$

$$9^2 + (-6) = 75$$

$$5^{(-1)} + 10 = \frac{51}{5} = 10\frac{1}{5}$$

$$(-3)^2 + 3 = 12$$

$$(-2)^{(-2)} + (-5) = \left(-\frac{19}{4}\right) = \left(-4\frac{3}{4}\right)$$

$$9^2 + (-4) = 77$$

$$2 - 5 = (-3)$$

$$10^2 + (-3) = 97$$

$$4^{(-2)} - (-1) = \frac{17}{16} = 1\frac{1}{16}$$

$$(-1)^{(-2)} + 3 = 4$$

$$(-2)^{(-2)} + (-8) = \left(-\frac{31}{4}\right) = \left(-7\frac{3}{4}\right)$$

$$(-8) + 2 = (-6)$$

$$1^2 + (-6) = (-5)$$

$$8 - 1 = 7$$

$$(-1) - (-6) = 5$$

$$4^{(-2)} - 2 = \left(-\frac{31}{16}\right) = \left(-1\frac{15}{16}\right)$$

$$(-2)^{(-1)} + (-8) = \left(-\frac{17}{2}\right) = \left(-8\frac{1}{2}\right)$$